Scordari AM-13-039, American Mineralogist April 2013 
The Fo column is our data, the F+ and F- columns are computed for our structure and its inverse.

Fo should tend towards either the + or the - column.  In our case Fo is usually larger than either F+ of F-. This is due to the quality of the crystal. Micas always give reflections that are broad and often streaked. 
  170 enantiomer sensitive reflections. Rt = 100x abs(F+ - F-)/<F+,F->                                                                                                                                                                                         

   h   k   l    F+     Fo     F-     Rt     h   k   l    F+     Fo     F-     Rt                                                                                                                                                                                

  -7   5  22   0.29   1.17   0.13 77.89     2   5  22   0.13   3.11   0.29 77.89                                                                                                                                                                                

  -6   6   7   0.77   2.11   0.36 72.00     0   6   7   0.36   2.63   0.77 72.00                                                                                                                                                                                

  -1   5  30   0.61   0.10   0.30 68.68    -4   5  30   0.30   2.14   0.61 68.68                                                                                                                                                                                

   0   3  27   0.46   0.37   0.87 60.70    -3   3  27   0.87  -2.06   0.46 60.69                                                                                                                                                                                

  -1   5  22   0.54   2.83   0.88 48.32    -4   5  22   0.88   2.91   0.54 48.32                                                                                                                                                                                

   0   1  37   0.41   0.70   0.59 35.72    -1   1  37   0.59   1.99   0.41 35.72                                                                                                                                                                                

  -5   4  26   0.96   2.11   0.71 30.29     1   4  26   0.71   2.56   0.96 30.29                                                                                                                                                                                

  -6   6  19   1.26   2.93   1.66 27.40     0   6  19   1.66   3.90   1.26 27.40                                                                                                                                                                                

   1   4  14   0.78   2.39   0.60 25.90    -5   4  14   0.60   2.16   0.78 25.90                                                                                                                                                                                

  -2   7   4   1.86   3.58   2.39 25.08    -5   7   4   2.39   3.55   1.86 25.08                                                                                                                                                                                

  -6   6  18   2.40   2.58   1.90 22.89     0   6  18   1.90   2.11   2.40 22.89                                                                                                                                                                                

   0   2   8   5.59   1.72   4.48 22.08    -2   2   8   4.48   1.81   5.59 22.08                                                                                                                                                                                

  -2   7  14   0.98   4.55   0.79 21.53    -5   7  14   0.79   3.85   0.98 21.53                                                                                                                                                                                

  -3   2  37   0.16   1.44   0.13 20.24     1   2  37   0.13  -1.64   0.16 20.22                                                                                                                                                                                

  -7   7   3   0.94   1.19   0.77 20.04     0   7   3   0.77   0.99   0.94 20.04                                                                                                                                                                                

  Friedif =    315.3   Estimated Friedel difference =    20.7854                                                                                                                                                                                                

  f computed from scattering factors, including f-prime

 Current Do-Dc R-factor (%)=    100.42  
The Do-Dc r-factor (R based on Friedel differences) is very large. This usually means that there is not much information in the Friedel pairs. See Flack et al. (2011) Acta Crystallographica, A67, 21-34.                                                                                                                                                                                                                        

 Plotting (Fo+ - Fo-) vs (Fc+ - Fc-)                                                                                                                                                                                                                            

 Gradient for zero intercept =                -0.498                                                                                                                                                                                                            

 Slope, intercept and Cc (R) of Fo/Fc  Plot = -0.492      2.27  -0.03695   
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The data should lie on the green line. You can see they are quite random - again indicating that there is not much information in the Friedel pairs (see also Flack et al. 2011)                                                                                                                                                                                   

 Computing normal probability plot for           849 reflections.                                                                                                                                                                                               

 Gradient for zero intercept =                 0.635                                                                                                                                                                                                            

 Slope, intercept and Cc (R) of  NPP   Plot =           0.635     -0.08   0.89166                                                                                                                                                                               

 The slope shoud be unity and the intercept zero                                                                                                                                                                                                                

 No of Reflections processed =   2018                                                                                                                                                                                                                           

 No of Friedel Pairs found =      849 No of Friedel Pairs used  =      849                                                                                                                                                                                      

 No of Unpaired Reflections  =     55                                                                                                                                                                                                                           

 No of Centric Reflections   =    265                                                                                                                                                                                                                           

 Flack parameter obtained from original refinement                                                                                                                                                                                                              

 Hooft parameter obtained with Flack x set to zero                                                                                                                                                                                                              

 Reflections only used if /Fo+ - Fo-/ <  99999.00 * /Fc+ - Fc-/ 
Friedif look good, so that for an untwinned crystal we would get reliable results.                                                                                                                                                                                                

 Friedif =     315.34 Acta A63, (2007), 257-265                                                                                                                                                                                                                 

 Flack & Shmueli (2007) recommend a value >200                                                                                                                                                                                                                  

 for general structures and >80 for enantiopure crystals                                                                                                                                                                                                        

 Flack Parameter & su    0.3112    0.3991                                                                                                                                                                                                                       

 Hooft Parameter & su    0.5312    0.1320                                                                                                                                                                                                                       

           Ton G & su   -0.0625    0.2640  
Flack of 0.3 with an esd of 0.4 means that the Flack parameter is NOT reliably determined. The esd needs to be below about 0.04 to be at all reliable.

The Hooft parameter says the same thing - the esd is too large for the result to be dependable.                                                                                                                                                                                                                                                                

 The absolute configuration has not been reliably determined    
CRYSTALS says that the data are not good enough.
deltaF = F^2(+) - F^2(-)

          Number +ve   mean(deltaF)   rms(deltaF)   Number -ve   mean(deltaF)   rms(deltaF)

For Fo

             502        13.9143        31.0733          347       -14.5460       35.5520

For Fc

             420         1.6907         2.4717          429        -1.6865        2.4662

No of reflections for which delta(Fo) has same sign as delta(Fc)

Same sign   Opposite sign

     424           425

 Distribution of Delta(F^2)/n<F^2>

Delta Fo^2     0     0     2     1     2    14    49   661    94    18     5     2     1     0     0

Delta Fc^2     0     0     0     0     0     0     0   849     0     0     0     0     0     0     0

    n         -7    -6    -5    -4    -3    -2    -1     0     1     2     3     4     5     6     7

 For an enantiopure material, there are 2 choices, P2                                                                                                                                                                                                           

P2(correct)       n/a  
n/a means not computable - the sample is either not enantiopure, or the data are not good enough.                                                        

 If 50:50 twinning is possible, there are 3 choices, P3                                                                                                                                                                                                         

P3(correct)     0.0003   i.e. 0.313011E-03                                      

P3(rac-twin)    0.9978   i.e. 0.997809E+00                                      

P3(inverse)     0.0019   i.e. 0.187816E-02 

There is a possibility (P3(RAC-TWIN)) that the sample is twinned.
G              -0.0625                                                          

G S.U.          0.2640                                                          

FLEQ           0.5312                                                           

FLEQ S.U.       0.1320   i.e. 0.132019E+00                                      

